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Kinematics

Momentum
positive hadrons
negative hadrons

y < 0.2 y > 0.2
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Fit: a + b x
 0.02±a = 3.66 

 0.002±b = 0.014 
/NDF = 59.3 / 612χ

 0.02±a = 3.17 
 0.002±b = 0.009 

/NDF = 63.1 / 612χ
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Fit: a + b x
 0.02±a = 3.65 

 0.0007±b = 0.0054 
/NDF = 87.8 / 832χ

 0.02±a = 3.16 
 0.0006±b = 0.0032 

/NDF = 92.1 / 832χ
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Fit: a + b x
 0.02±a = 3.70 

 0.002±b = 0.005 
/NDF = 65.6 / 622χ

 0.02±a = 3.18 
 0.002±b = 0.006 

/NDF = 65.0 / 632χ
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Fit: a + b x
 0.02±a = 3.67 

 0.0007±b = 0.0018 
/NDF = 117.0 / 832χ

 0.02±a = 3.18 
 0.0007±b = 0.0011 

/NDF = 112.6 / 832χ
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Momentum
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Fit: a + b x
 0.02±a = 2.57 

 0.001±b = 0.010 
/NDF = 48.5 / 612χ

 0.01±a = 2.20 
 0.001±b = 0.009 

/NDF = 54.2 / 612χ
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Fit: a + b x
 0.01±a = 2.62 

 0.0005±b = 0.0011 
/NDF = 100.7 / 832χ

 0.01±a = 2.21 
 0.0004±b = 0.0026 

/NDF = 102.9 / 832χ
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Momentum
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Fit: a + b x
 0.02±a = 2.57 

 0.002±b = 0.007 
/NDF = 63.0 / 622χ

 0.01±a = 2.22 
 0.001±b = 0.004 

/NDF = 62.7 / 622χ
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Fit: a + b x
 0.01±a = 2.60 

 0.0005±b = 0.0003 
/NDF = 99.7 / 832χ

 0.01±a = 2.23 
 0.0005±b = 0.0007 

/NDF = 123.0 / 832χ
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Fit: a + b x
 0.02±a = 3.59 
 0.06±b = 0.60 

/NDF = 84.7 / 632χ

 0.02±a = 3.12 
 0.05±b = 0.43 

/NDF = 55.8 / 632χ
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Fit: a + b x
 0.02±a = 3.48 
 0.05±b = 0.95 

/NDF = 66.1 / 632χ

 0.02±a = 3.02 
 0.04±b = 0.67 

/NDF = 61.3 / 632χ
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Fit: a + b x
 0.03±a = 3.66 
 0.07±b = 0.26 

/NDF = 77.9 / 632χ

 0.02±a = 3.12 
 0.06±b = 0.32 

/NDF = 62.0 / 632χ
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Fit: a + b x
 0.02±a = 3.54 
 0.05±b = 0.59 

/NDF = 50.7 / 632χ

 0.02±a = 3.06 
 0.05±b = 0.50 

/NDF = 54.5 / 632χ
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Fit: a + b x
 0.02±a = 2.55 
 0.04±b = 0.35 

/NDF = 79.0 / 632χ

 0.01±a = 2.17 
 0.04±b = 0.34 

/NDF = 65.9 / 632χ
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Fit: a + b x
 0.01±a = 2.50 
 0.04±b = 0.47 

/NDF = 78.7 / 632χ

 0.01±a = 2.11 
 0.03±b = 0.51 

/NDF = 75.7 / 632χ
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Fit: a + b x
 0.02±a = 2.55 
 0.05±b = 0.27 

/NDF = 61.7 / 632χ

 0.02±a = 2.20 
 0.04±b = 0.18 

/NDF = 68.2 / 632χ
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Fit: a + b x
 0.01±a = 2.50 
 0.04±b = 0.38 

/NDF = 50.6 / 632χ

 0.01±a = 2.15 
 0.03±b = 0.33 

/NDF = 50.7 / 632χ
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 0.02±a = 3.68 
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/NDF = 95.1 / 982χ

 0.02±a = 3.17 
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/NDF = 89.6 / 982χ
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Fit: a + b x
 0.01±a = 3.78 

 0.3±b = 1.2 
/NDF = 123.2 / 922χ

 0.010±a = 3.244 
 0.2±b = 0.4 

/NDF = 96.7 / 922χ
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Fit: a + b x
 0.02±a = 3.68 

 0.2±b = 1.0 
/NDF = 89.8 / 982χ

 0.02±a = 3.17 
 0.2±b = 0.9 

/NDF = 70.9 / 982χ
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Fit: a + b x
 0.01±a = 3.76 
 0.3±b = -0.5 

/NDF = 178.4 / 912χ

 0.01±a = 3.24 
 0.3±b = -0.4 

/NDF = 163.5 / 902χ
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Fit: a + b x
 0.01±a = 2.58 

 0.2±b = 1.2 
/NDF = 93.3 / 982χ

 0.01±a = 2.20 
 0.1±b = 1.2 

/NDF = 88.4 / 982χ

 (rad)θ
0 0.05 0.1 0.15 0.2 0.25

R
at

io

1.5

2

2.5

3

3.5

4
W41/W34 pol(c)>0 W41/W34 pol(c)<0

Fit: a + b x
 0.008±a = 2.611 

 0.2±b = 1.5 
/NDF = 170.6 / 932χ

 0.007±a = 2.251 
 0.2±b = 1.0 

/NDF = 190.6 / 932χ
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 0.01±a = 2.59 

 0.2±b = 0.6 
/NDF = 108.0 / 982χ

 0.01±a = 2.20 
 0.2±b = 0.8 

/NDF = 98.2 / 982χ
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 0.009±a = 2.614 

 0.2±b = 0.4 
/NDF = 122.1 / 892χ

 0.008±a = 2.258 
 0.2±b = 0.1 

/NDF = 167.3 / 892χ
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